[image: image1.png]Fermion number determination
e LHeC, 1 fb™
. E_=140 GeV ‘ +

-t
N

=N
1

|0 LHC, 100 fb

Asymmetry

o
(o]
|

]

o
(o))
1 | 1 1
|

o
=
T T T T
o
|

0.2 _—Scalar LQ —
A =0.3

800 200 600 800 1000 1200 1200 1600 1800
LQ Mass (GeV)



[image: image2.png]R e LEP
- —— HERA: all channels
- N LHC: evy+eey

"
.
““
.
.

..——..———..._..._...\'

uERNay )
n v
-IIIIII.IIIIII-II K
Tay apnn®® K
EmuB

T

— LHeC: ey (s=758 GeV)
------ LHeC: ey \s=1.4 TeV)

- —— LHeC: ey \s=1.9 TeV)

200 400 600 800 10001200140016001 800

e* Mass [ GeV ]




